Cll# CnoxeHue U BbIYUTaHKE (110 TOPU3OHTAIIN)

Nwms:

Pemure kaxayr 3axauy.

00)

60 + 31 = 91

D 40-11=

2) 50+ 16=

3 18-3=

9 39+6=

)

6) 34+2=

7 48-17=

8) 798+ 178 =

9

1) 24.-7=

12) 94+ 1=

OTBeThI

91

00.

10.

11.

12.

MaremaTnKa 1 10
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7567 [58[50]42]33[25[17]




‘::j_':l—‘ Ciio’xeHre U BEIUUTAHUE (HO FOpI/I30HTaJII/I) Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM

Pemnre Kaxayro 3aaaudy. OTBeTHI
06) 60+ 31 = 91 91
00.
D 40-11= 29 - 22
2. 66
2) 50+16= 66 . 15
4 45
3 18-3= 15
5 3
4 39+6= 45 6 5
7 31
5 4-1= 3
8. 976
6) 3+2= 5 9. 6
10. 3
7 48-17= 31
11. 17
8 798+178= 976 12. 3
9 8-2= 6
10) 24+ 1= 3
1) 24_-7= 17
12) 241= 3

1 1-10 [92[83]75[67]58]50[42[33[25]17]
11-12[ 8 [ 0
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Cll# CnoxeHue U BbIYUTaHKE (110 TOPU3OHTAIIN)

Nwms:
Pemnre Kaxayro 3aaaudy. OTBeTHI
66 15 45 3 3
29 5 6 976 31 o6. 91
06) 60+ 31 = 91 L
2.
D 40-11=
3.
4.
2) 50+16=
5.
3) 18-3= 6.
7.
4 39+6= g
9.
5) 4.1=
10.
7 48 -17=
8) 798+ 178 =
9 8-2=
10) 7+ 1=
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E\/IaTeMaTI/IKa O0s1er4yeHHbIN BapUAHT

1-10 {90 [80[70[60[50[40[30[20]10] 0 |
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